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Unicus Mathematics Olympiad (UMO)

Classic Section (Each Question is 1 Mark)

1. In a maths quiz, the scores of a team in the different rounds were 20, -30, -5, 10, 25. What is
the total score of the team at the end of all the rounds?

a. 20 b. 90
c. -20 d. -90

2. Which of the following numbers is completely divisible by 37?

a. 130497 b. 213473
c. 100019 d. 123049

3. Which of the following 3D objects has 6 vertices, 10 edges and 6 faces?

a. Cylinder b. Triangular pyramid
c. Pentagonal pyramid d. Square pyramid

4. Find the sum of the expression:
(-114) + 53 + (-117) + (-24) + 72 + 112

a. -24 b. 24
c. -18 d. 18

5. The temperature at a hill station is 6°C during the day. It becomes - 7°C during mid-night. By
how many degrees did the temperature fall?

a. 7°C b. 9°C
c. 11°C d. 13°C
6. Simplify:

2 4 4 7
12415 -12+1=

11 13
17 7
c. 2— d 2~
30 15

7. The ratio of daily expenses and savings of Rachel is 2: 3. If she spends $10 per day, then
how much money does she save per day?

a. $5 b. $10
c. $15 d. $20
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8. Fillin the blank:
The ratio of 420 mLto 3.2 L is

b. 21: 160

a. 42: 420
d. 19: 420

c. 17: 320

9. Out of a salary of $45,000, a man keeps aside one-third as his savings. Out of the remaining,
he spends 50% on food and 20% on house rent. How much amount did he spend on food and

house rent respectively?

b. $6,000, $15,000

a. $15,000, $6,000
d. $4,000, $12,000

c. $12,000, $4,000

10. Find the area of a square whose perimeter is equal to the perimeter of a rectangle with length
34 cm x 44 cm:

b. 1600 cm?

a. 1521 cm?
d. 998 cm?

c. 2346 cm?

11. The given figure is made up of equal squares. If its perimeter is 442 cm, then find the area of

the figure:
a. 2495 cm? b. 1376 cm?
c. 2364 cm? d. 2601 cm?

12. The given triangle is an isosceles triangle. Find the value of zm:

74°
m
a. 46° b. 32°
c. 28° d. 38°
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13. The sum of two numbers is 8,21,376. If the first number is 25,638 more than the second
number, then find the second number:

a. 5,32,829 b. 2,38,749
c. 3,97,869 d. 4,87,629

14. Find the biggest 6-digit number using the digits 7, 3, 0 and 1, with 1 at the thousands place:

a. 700031 b. 771730
c. 777310 d. 731000

15. Which of the given options is the correct net for rectangular prism?

16. Match the given numbers:

Column 1 Column 2
p. | MDXX i 455
qg. CDLV ii. 627
r. | CMLXX iii. 1520
s. | DCXXVII | iv. 970

a. (p)-iii, (q)-i, (r)-iv, (s)-ii b. (p)-iv, (q)-ii, (r)-i, (s)-iii
c. (p)-i, (q)-ii, (r)-iii, (s)-iv d. (p)-i, (q)-iii, (r)-iv, (s)-ii

17. Which one of the given options would be the net for a triangular pyramid?

Q
O

/\
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18. Find the value of the following:
a?/b? + b?/a%:

b. (a/b + b/a)? + 2

a. (a/lb + b/a)>-2
d. (a/lb + b/a)’ -4

c. (a/lb +b/a)> +4

19. Two complementary angles are such that two times the measures of one is equal to three
times the measures of the other. The measure of the larger angle is:

b. 108°

a. 72°
d. 54°

c. 36°

20. Leo bought 20 boxes of pens. Each box contained 15 pens. The pens were equally distributed
among 25 students. How many pens did each student receive?

a. 25
c. 12

21. A cake shop cuts a cake into 6 slices. One slice cost $35. Which equation would you use to
find the cost 'a’ of the whole cake?

b. 6a =35

a. 3ba=6
d. a=35/6

c.a=6x35

22. Arya sold 50 wristwatches and 30 smart pens. If the cost of 2 wristwatches is $471.70 and 3
smart pens are $23.16. What is the total cost of wristwatches and smart pens sold?

b. $16,480.60

a. $13,289.25
d. $12,024.10

c. $15,843.50

23. There were 300 pupils in a stadium. 40% of them were boys. 60 more boys entered the
stadium. What percentage of the pupils in the stadium are boys now?

a. 20% b. 30%
c. 50% d. 60%
24. Find the value of y:

2 4 .3
870 X5§+4E Tlg—y
a. 4933 b. 49302

5

c. 49323 d. 4935

5
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25. Find the value of the expression:
[2-1/3][2-3/5] [2-5/7] ... [2-997/999]

1001

3

c. 0

B

a o
wIlro

26. The ratio of the present ages of Sam and Jack is 4: 5. Six years hence, the ratio of their ages
will be 14: 17. What will be the ratio their age 12 years hence?

a. 15:19 b. 13: 15
c. 16:19 d. 17: 19

27. When a number is added to another number, the total becomes 333% percent of the second
number. What is the ratio between the first number and the second number?
a. 3.7 b. 7:4
c.7:3 d. 4:7

28. A dealer buys an old cooler listed at $950 and gets a discount of 10%. He spends $45 for its
repair. If he sells the cooler at a profit of 25%, then the selling price of the cooler is:

a. $1,125 b. $1,215
c. $1,251 d. $1,512

29. If x = -3, then what is the value of x* - x3 - x2 + 3?

a. 45 b. 75
c. 102 d. 111

30. Fill in the blank:
Number of angles formed in the given figure is

b. 5
d. More than 5

oo
QN
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31. Which of the following does not represent a ray in the given figure?

a. OA b. OB
c. BA d. AB

32. The following pictograph shows favourite ice cream flavours of boys in a colony.
Which flavour is liked least by the boys?

Flavours No. of Boys

Vanilla

Mango

Strawberry

Butterscotch

Each l};’ represents 100 boys.

a. Mango b. Vanilla
c. Strawberry d. Butterscotch

33. What is the area of the shaded part in the figure given below?

6 cm

1
32cm

8 cm

—Cm# v

6cm
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b. 24 cm?

a. 16 cm?
d. 48 cm?

c. 32 cm?

34. What is the area of a square having perimeter 68 cm?

b. 284 cm?

a. 361 cm?
d. 289 cm?

c. 269 cm?

35.The L.C.M. of (22x3x52x7), (2*x3?x5x7?x 11)and (2 x 3® x 5%) is:

a. (2 x3*x 5% b. (2x3x5x7x11)
c. (24x3Fx54x72x1) d. (22x32x5x73x11)

36. By how much is the sum of 44.44 and 32.03 greater than their difference?

b. 64.06

a. 12.41
d. 88.88

c. 76.47

37. A bucket of capacity 2000 mL is to be filled by using containers measuring 200 mL and 300
mL. Which one of the following combinations of containers is not correct for filling the bucket
with the containers of 200 mL and 300 mL, respectively?

a. 6,3 b. 1,6
c. 4,4 d. 7,2

38. In a school, there are 360 students out of which two-thirds are girls and the rest are boys.
Three-fourths of the boys are players. The number of players who are not players is:

a. 25
c. 60

39. Peter bought a car for $49,553. He paid $8,076 in cash and agreed to pay the remaining
amount in 37 equal installments. What is the amount of each installment?

b. $1201

a. $1121
c. $1339 d. $1021

40. Calculate the average temperature during the day, when 15 hours was 20°C and 9 hours was

13°C:
a. 14°C b. 16.6°C
c. 17.4°C d. 19°C
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Scholar Section (Each Question is 2 Marks)

41. Following is a list of numbers. If 2 is subtracted from the middle digit of each of these numbers
and the digits in the units place and hundreds place interchange their positions in each of
these numbers which number will take the middle position after they are arranged in

descending order?
632 175 469 942 845

a. 216 b. 229
c. 551 d. 528

42. If the angles of the quadrilateral are in the ratio of 2 : 3 : 4 : 6, then find the measure of each
of the angles:

a. 48°,72°,96°, 144° b. 128°, 98°, 78°, 56°
c. 103°, 88°, 94°, 75° d. 101°, 93°, 56°, 110°

43. Match column A with column B:

Column A Column B

a. | (1/2+1/3) of 6 p. | (3/4-1/3) of 12

b. | (1/3+1/6)of 18 | q. | (5/2-2/3) of 6

c. | (1/4+1/3)of12 |r. | (5/4-1/2) of 12

d. | (1/5+1/6)of 30 |s. | (3/4-1/6)of 12
a. (@-q,(b)-r,(c)-s,(d)-p b. (a)-p, (b)-q,(c)-s,(d)-r
c. (@)-p,(b)-r,(c)-q,(d)-s d. (@)-p,(b)-r(c)-s,(d)-q

44. The ratio of the number of red balls to the number of green balls is 5: 6. The green balls are
either light or dark green and their ratio is 4: 2. If there are 12 dark green balls, then find the

number of light green and red balls respectively:

a. 36, 54 b. 32,48
c. 24, 30 d. 20, 28

45. In a five-digit number, the digit at the hundred's place is 2 and the digit at the one's place is
twice the digit at the hundred's place. The number has no thousands. The digit at the ten
thousand's place is the sum of the digit at the hundred's place and the digit at the ones place.
The digit at the ten's place is the digit at the ten-thousands place minus 1. The number is:

a. 52064 b. 60254
c. 60245 d. 62054
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46. When a number is divided by 4 and 12 subtracted from it, the result is 1/6 of the number.
What is the number?

a. 128 b. 132
c. 144 d. 108

47. PQRS is a diameter of a circle whose radius is r. The length of PQ, QR and RS are equal.
Semicircles are drawn on PQ and QS to create the shaded figure given. The perimeter of the
shaded figure is:

a. 2mr b. 4mr
c. 5tr d. 31r

48. The price of some fruits per kg are given below:
Watermelon - $18.50
Cherry - $72
Grape - $120.60
Apple - $78.40

Sarah bought 4% kg watermelon, 1% kg cherries, 250 g grapes, and 1% kg apples. She gave a
500% note to the shopkeeper. How much money did she get back?

a. $337 b. $233
c. $163 d. $93

49. The size of a soap cake is 7 cm x 5 cm x 2.5 cm. The maximum number of soap cakes which
can be packed into two boxes having internal measurements of 56 cm x 0.4 m x 0.25 m is:

a. 640 b. 960
c. 1280 d. 2560

50. The thermometer showed -12 degrees Celsius in the morning then the temperature rises by 4
degrees and later again increased by 2 degrees at the evening has fallen by 5 degrees and
then falls 3 degrees. What end temperature does the thermometer show?

a. 26°C b. -14°C
c. 38°C d. -12°C
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Answer Key

1. a 2. a 3. c 4, c 5. d 6. c 7. c
8. b 9. a 10. a 11. d 12. b 13. c 14. b
15. a 16. a 17. d 18. a 19. d 20. c 21. c
22. d 23 c 24. a 25. a 26. c 27. c 28. a
29. c 30. d 31. c 32. a 33. c 34. d 35. c
36. b 37. a 38. b 39. a 40. c 41. d 42. a
43. d 44, c 45, b 46. c 47. a 48. c 49. c
50. b
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